
Radio y Diámetro de Ćırculos (J)

Calcule el radio y el diámetro de cada ćırculo.

A=186.265 mm2

radio =

diámetro =

C=13.195 mm

radio =

diámetro =

C=38.327 mm

radio =

diámetro =

A=47.784 cm2

radio =

diámetro =
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Radio y Diámetro de Ćırculos (J) Respuestas

Calcule el radio y el diámetro de cada ćırculo.

A=186.265 mm2

radio = 7.7 mm

diámetro = 15.4 mm

C=13.195 mm

radio = 2.1 mm

diámetro = 4.2 mm

C=38.327 mm

radio = 6.1 mm

diámetro = 12.2 mm

A=47.784 cm2

radio = 3.9 cm

diámetro = 7.8 cm
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